NSSNALPOA E

(Ve
L
T)
=
T
)
T




82




180° Hinge Halves TR

LA
L

I

MT-HG-S-12-12-12 MT-HG-S-06-06-06

MR-

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear A c
Available Finish(es) | 10-12, 20-33

Recommended | 5/8"-11Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (M16x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1 HW
For More Info | www.ModTruss.com

Part # Size Weight Hole Size

Description TK

MT-HG-S-12-12-12 7.5"x12"x 11" 30.501bs 11716” (17.46mm)
12" 180° Hinge Half (190.50mm x 304.80mm x 279.40mm) (13.83kg) 1" (25.40mm)

M-

o ©@ O AL

In Stock Reusable Compatible* Serialized & Traceable

*Only 12" Hinge Half is compatible with standard Truss G L

I\ ITH. ModTruss U.S. Patent No. 8,418,425 & other patents pending




XX-XX-XX-S-OH-IW

“§IAWNN 13V

4TVH 3ONIH 081

‘NOILJI¥OS3Ia

LA NOISIAY 7 8102/€1/8

at )
wigegreiszsy - SSNMLPON hﬁﬂd
i

[9192]
€01

CL-CL-CL-S-OH-IW

] C ] C Ll | [78'9¢]
[05°061] 1g'e
05°L
f
i i Ll
lezzz] | |1 | [srei] [£5°6]
88’ oo L €9y 8¢’
€9y
[08¥0¢€]
ordl
[Sv1£1]
j L9 J
r B
O % O O % O
D O HO OoH
[o7°6.2]
00'L L 1u o HoO oH
[ov'sT]
oL || - O - o U
— Q O @
N\ J
+ L
[oLgg] [02°9/] [9v° /1]

051 00¢ 69

84

90-90-90-S-OH-IW *
[0rzl]
h 05’
1*\ 1
[919Z] - N Tm._;
-
ol [99°¢v]
zL|
L [eTert]
88
> a o []o
o 00'£21
= ﬁoo.mg [or'sz]
- O k ot Ho .
S = (97 /1]
= f 69"
T 5 [15°9¢] [0z°9/]
w £ 7 00'¢
=
— =
QL =
@
v

NSSNALPON m_rg_

U.S. Patent No. 8,418,425 & other patents pending



180° Hinge Hitch Pins TR

LA

MT-HG-HP-12

L
H

MT-HG-HP-06

Standard Material | A36 Low Carbon Steel M R
Standard Finish | 10 - Zinc Clear |
Available Finish(es) 10-12

Hole Size | 0.26" (6.50mm) Ac
Recommended | Cotter Pin - MT-HW-P-CP-0448-0012-0110
Hardware
Recommended Tools | Rubber Mallet
For More Info | www.ModTruss.com HW

Part # Size Weight

Description T K
MT-HG-S-HP-12 3"x14.25"x 1" 3.601bs
12"180° Hinge Hitch Pin (76.20mm x 361.95mm x 25.40mm) (1.63kg) —

M-

o 0 FH

In Stock Reusable

'Jl'll'ﬁ] ModTruss U.S. Patent No. 8,418,425 & other patents pending




86

Series | HG Hinges

Product Number | MT-HG-HP-XX

XX-dH-OH-IW

“43EWAN 13Vd

SNId HOLIH

‘NOILdIdOS3d

_>.zoa_>mi 810¢/L1/6

W ,mm(wwzo,m—,..m(éo:_mxu«\xm j_.n_—_ mm:-_hﬁDE _

WWN
[65°1] 90 - GIW : TIAZTNOISIOFd

-

90-dH-OH-IW

Cl-dH-OH-IW

[ovsT]
00'L

[or's2]
00’1

00¢

[ov'sT]

00'l

[e0se]

8¢l

[05°9]
9T @

[orse] |
0L

[05°9]
9T @

e

[§660C]

6’8

[orsz] |
001

[05°ZL€]

052l
[G6'19€]

Gyl

NSSNALPOA be

U.S. Patent No. 8,418,425 & other patents pending



180° Hinge Half Pivot Pins

MT-HG-PP-12

MT-HG-PP-06

Available Finish(es)
Hole Size

Recommended
Hardware

Recommended Tools
For More Info

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear

10-12
0.25" (6.35mm)
Roll Pin - MT-HW-P-RP-0200-0016-0109

Tool Kit 1 | Ball Peen Hammer
www.ModTruss.com

Part #
Description

MT-HG-S-PP-12
12" 180° Hinge Half Pivot Pin

In Stock

| J:I IT; j ModTruss

Size Weight

12.25"x 1" x 0.25" 2.65lbs
(311.15mm x 25.40mm x 6.35mm) (1 _20kg)

0

Reusable

U.S. Patent No. 8,418,425 & other patents pending

TR
LA
L

JH

MR-
AC
Hw
AL
M-

L




88

Series | HG Hinges

Product Number | MT-HG-PP-XX

XX-dd-OH-IW

-438NAN 1dVd

SNId LOAId

“NOILdI¥OS3d

_>”zoa_>wi 810z/11/6

WW NI 33V SNOISNIWIC [] 1330 vae
[66°1] 90 - GIW : 13ATTNOISIDTd

VSSNALPON E

90-dd-OH-IW

Cl-dd-OH-IW

B
m_m _mm
[08°05]
00
%_m m o : __mmég *
9 ® B
[01'691]
059
0 00 0 w05
007
U g [ 1
[orsz] | wmg\ﬁ
0L Y0
[SUite]
52zl

]

NSSNALPOA h.w

U.S. Patent No. 8,418,425 & other patents pending



180° Hinge Assemblies TR

Some assembly required

LA

L

MT-HG-5-06-06-06-AS

Components Included
Qty. 2 - MT-HG-S-06-06-06
Qty. 1- MT-HG-S-PP-06

Qty. 6 - MT-HW-P-RP-0200-0016-0109

JH

MT-HG-S-12-12-12-AS

Components Included
Qty. 2 - MT-HG-5-12-12-12
Qty. 1- MT-HG-S-PP-12
Qty. 6 - MT-HW-P-RP-0200-0016-0109

Standard Material | A36 Low Carbon Steel M R
Standard Finish | 10 - Zinc Clear ‘
Available Finish(es) | 10-12, 20-33
Hole Size | 11/16” (17.46mm) Ac
Recommended Tools | Tool Kit 1 | Ball Peen Hammer
For More Info | www.ModTruss.com

Part # Recommended
Description Hardware HW

MT-HG-S-12-12-12-AS* | 12"x12"x 12" 65.10lbs 5/8"-11 Thread Grade 8 Bot, 2.5 Long

12" 180° Hinge Assembly (304.80mm x 304.80mm x 304.80mm) | (29.53kg) /o hEIncPlted Mesner

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt T K
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

M-

o ©@ O AL

Electrical Hazard In Stock Reusable Compatible” Serialized & Traceable

*Only 12" Hinge Assembly is compatible with standard Truss G L

'JlTTF] ModTruss U.S. Patent No. 8,418,425 & other patents pending




90

Series | HG Hinges

Product Number | MT-HG-S-XX-XX-XX-AS

SV XX-XX-XX-S-OH-IW

“¥38WAN L3¥d

ATgWASSY FONIH 081

“NOILdI¥OS3a

;ﬁoaﬁi 810z/s1/8

WW NI 33V SNOISNIWIQ [] 1350 Ve
[65°L] 907 - GIW : TIA1 NOISIDI¥d

SSNALPON

NId FONIH

SV-90-90-90-S-OH-1W

(o) o

[01691]
059

[029.] [oszl]
00°¢ 0s’

PN

[00°221]

/« 00'S

NId 3ONIH

[0v'2sL] i
009

B 4 1 4

L] L (@) L]

(@) (@)

I I

o srue]
Al

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



Flat Hinges

MT-HG-F-06-06-12

MT-HG-F-12-12-24

Standard Material | A36 Low Carbon Steel
Standard Finish | 10 - Zinc Clear
Available Finish(es) | 10-12, 20-33
Hole Size | 11/16" (17.46mm)

Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

Part # Size Weight
Description

MT-HG-F-12-12-24* 12.5"x12"x 2.5" 27.40bs
12" Flat Hinge (317.50mm x 304.80mm x 63.50mm) (12.43kg)

& © O

Electrical Hazard In Stock Reusable Compatible* Serialized & Traceable

*Only 12" Hush Hinge is compatible with standard Truss

I\ ITU. ModTruss U.S. Patent No. 8,418,425 & other patents pending

TR
LA
L

I

MR-
AC
Hw
AL
M-

L

GL



92

Series | HG Hinges

Product Number | MT-HG-F-XX-XX-XX

XX-XX-XX-4-OH-

IW

“4IFWON L3Vd

S3ONIH LV

‘NOILJI¥O$3a

LA NNOISIAZY 7 g10z/c1/8

W NI 33V SNOISNIWIC [ ] 134DV ag

Wi
[65"1] 90°F - QIW : TIATTNOISIDIId

.
“NSSNALPOW %5
-

C1-90-90-4-OH-IW

a o
[0¥'TS 1]

[S1¥81]
ST/ 009

ey

[02'9/]
00'€

[

or'est
009

[or 1] \ _ =
69° orse] | [02'9/]
05°1 00
[08'7OE]
00zl

]

azd

S/l

vC-C1-CLl-4-OH-IW

~ [ose9]
05T
[sE9]
[ s |
— |
. é! Eiazd
[ss wmg (08708 S1
STEL oozl
ozos |22 909 9 O © | [ogyoe]
00°e O O O O O (@] O (@] 0oct
O O o)
=0 o] O o] O O O mﬁo
. = A
%MW.;\ | [eruzd] T
[ol'se] [0z'9/] 5.9
0s°L 00t [09'609]
00T

NSSNU] PO m—wvs

U.S. Patent No. 8,418,425 & other patents pending



	Tom sida



